
MATHS

BOOKS - DEEPTI MATHS (TELUGU

ENGLISH)

MATHEMATICAL REASONING
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Solved Problems

1. If , then p : 7 > 5, q : 10 < 12 p ∧ q

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vtaftwUyyYFn


A. True

B. False

C. Can not be determined

D. None

Answer: A

Watch Video Solution

2. If , then 

A. True

p : 5 > 7, q : 10 < 12 p ∨ q

https://dl.doubtnut.com/l/_vtaftwUyyYFn
https://dl.doubtnut.com/l/_Sv9GYQpSZ1hE


B. False

C. Can not be determined

D. None

Answer: A

Watch Video Solution

3. If ,

then 

A. True

p : x2 − 16 = 0, q : (x + 4)(x − 4) = 0

p ↔ q

https://dl.doubtnut.com/l/_Sv9GYQpSZ1hE
https://dl.doubtnut.com/l/_mViY2FAXERIQ


B. False

C. Can not be determined

D. None

Answer: A

Watch Video Solution

4. If , then 

A. True

p : 3 + 5 = 10, q = 3 × 5 = 15

p ↔ q

https://dl.doubtnut.com/l/_mViY2FAXERIQ
https://dl.doubtnut.com/l/_KrQFQIzQ3GT8


B. False

C. Can not be determined

D. None

Answer: B

Watch Video Solution

5. The converse of the statement "If

 then  or " is

A. If , then 

x ∈ A ∪ B x ∈ A x ∈ B

x ∈ B x ∈ A

https://dl.doubtnut.com/l/_KrQFQIzQ3GT8
https://dl.doubtnut.com/l/_eByCJzSXH7y0


Exercise

B. If , then A = B

C. If , then  and 

D. If  or , then 

Answer: D

Watch Video Solution

B = A

A ⊂ C A ⊂ B B ⊂ C

x ∈ A x ∈ B x ∈ A ∪ B

1. If sentence can be judged to be true or false,

but not both then it is called

https://dl.doubtnut.com/l/_eByCJzSXH7y0
https://dl.doubtnut.com/l/_W3TnyCZ0LS83


A. an open sentence

B. a statement

C. a tautology

D. a contradiction

Answer: B

Watch Video Solution

2. The truthfulness or falsity of a statement is

called its

https://dl.doubtnut.com/l/_W3TnyCZ0LS83
https://dl.doubtnut.com/l/_G61OnZMX64ij


A. negation

B. converse

C. inverse

D. truth value

Answer: D

Watch Video Solution

3. The combination of one or more simple

statements with connective is called

https://dl.doubtnut.com/l/_G61OnZMX64ij
https://dl.doubtnut.com/l/_z5WaEVshGyM2


A. a conjuction

B. a disjunction

C. an open sentence

D. a compound statement

Answer: D

Watch Video Solution

4. Denial of a statement is called its

A. negation

https://dl.doubtnut.com/l/_z5WaEVshGyM2
https://dl.doubtnut.com/l/_8kZBCW1AEZ9M


B. convere

C. inverse

D. truth value

Answer: A

Watch Video Solution

5. The statement which uses the connective

 (OR) is called a

A. negation

∨

https://dl.doubtnut.com/l/_8kZBCW1AEZ9M
https://dl.doubtnut.com/l/_3LNE0qrNI8Ez


B. disjunction

C. conjunction

D. tautology

Answer: B

Watch Video Solution

6. The statement which uses the connective

 (AND) is called a

A. conjunction

∧

https://dl.doubtnut.com/l/_3LNE0qrNI8Ez
https://dl.doubtnut.com/l/_iN8zwy50iRUy


B. disjunction

C. implication

D. negation

Answer: A

Watch Video Solution

7. The statement of the form " if…………

then…………." is called

A. Disjunction

https://dl.doubtnut.com/l/_iN8zwy50iRUy
https://dl.doubtnut.com/l/_kJCBoQMVnh4S


B. Conjuction

C. Implication

D. Negation

Answer: C

Watch Video Solution

8. "Earth is a planet", the negation of this

statement is

A. The earth is round

https://dl.doubtnut.com/l/_kJCBoQMVnh4S
https://dl.doubtnut.com/l/_QGglrfZDsmAe


B. The earth is not round

C. The earth revolves round the sun

D. The earth is not a planet

Answer: D

Watch Video Solution

9. The negation of the statement "If I become a

teacher, then I will open a school" is

https://dl.doubtnut.com/l/_QGglrfZDsmAe
https://dl.doubtnut.com/l/_Z7HqAGcAfynQ


A. Neither I will become a teacher not I will

open a school

B. I will not become a teacher or I will open

a school

C. I will become a teacher and I will not

open a school

D. Either I will not become a teacher or I

will not open a school

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z7HqAGcAfynQ


10. The conjunction of the statements, "5 is an

odd number", "5 is positive" is

A. 5 is an odd number and 5 is positive

B. 5 is an odd number or 5 is positive

C. 5 is an odd number and 5 is not positive

D. 5 is not an odd number and 5 is positive

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Z7HqAGcAfynQ
https://dl.doubtnut.com/l/_I8wUnXbjhg5y


11. The conjunction of the statement,"2 is

even", "Its square is even", is

A. 2 is even and its square is even

B. 2 is even or its square is even

C. 2 is even but its square is not even

D. 2 is not even and is its square is not

even

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IsOyQG0p1bTV


12. The disjunction of the statement, "It is

raining", The sun is shining", is

A. It is raining and the sun is shining

B. It is raining or the sun is shining

C. It is raining and the sun is not shining

D. It is not raining or the sun is not shining

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IsOyQG0p1bTV
https://dl.doubtnut.com/l/_Bj0usc0h65KF
https://dl.doubtnut.com/l/_46WQ2EqRc17i


13. The disjunction of the statement,

"Hyderabad is in India", 2+2 = 4" is

A. Hyderabad is in India and 2+2=4

B. Hyderabad is in India or 2+2 = 4

C. Hyderabad is in India but not 2+2=4

D. Hyderabad is not in India or 2+2=4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_46WQ2EqRc17i
https://dl.doubtnut.com/l/_R2dipzZ9RV6H


14. The disjunction of the statement, "1+2 = 3",

"3+4 = 6", is

A. 1+2 = 3 and 3+4 = 6

B. 1 + 2 = 3 or 3 + 4 = 6

C. 1 + 2 = 3 but not 3 + 4 = 6

D. Neither 1 + 2 = 3 nor 3 + 4 = 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_R2dipzZ9RV6H


15. The disjunction of 3+5 = 8, 7-4 = 3 is

A. 3+5 = 8 and 7-4=3

B. 3 + 5 = 8 or 7 - 4 = 3

C. If 3 + 5 = 8 then 7 - 4 = 3

D. 3 + 5 = 8 only If 7 - 4 = 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jG2x2bC3QvFP


16. The conjunction of 6+3=9, 8-3 = 5 is

A. 6+3 = 9 and 8 - 3 = 5

B. 6 + 3 = 9 or 8 - 3 = 5

C. If 6 + 3 = 9 then 8 - 3 = 5

D. 6 + 3 = 9 onlt if 8 - 3 = 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CSEHFKvkBZy9


17. The implication of x+3 = 8, 2x + 5 = 10 is

A. x + 3 = 8 and 2x + 5 = 10

B. x + 3 = 8 or 2x + 5 = 10

C. If x + 3 = 8 then 2x + 5 = 10

D. x + 3 = 8 only if 2x + 5 = 10

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SYSalAwltFEi


18. "5 + 7 = 10 and 4 + 3 = 7". Write the

statement using the appropriate connective

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5 + 7 = 10 ∨ 4 + 3 = 7

5 + 7 = 10 ∧ 4 + 3 = 7

5 + 7 = 10 ⇒ 4 + 3 = 7

5 + 7 = 10 ⇔ 4 + 3 = 7

https://dl.doubtnut.com/l/_AtOy7xTGmj3q
https://dl.doubtnut.com/l/_8vdVqAXWzccF


19. "7 is odd 0r 7 is prime". Write the statement

using the appropriate connective

A. 7 is odd  7 is prime

B. 7 is odd  7 is prime

C. 7 is odd  7 is prime

D. 7 is odd  7 is prime

Answer: A

Watch Video Solution

∨

∧

⇒

⇔

https://dl.doubtnut.com/l/_8vdVqAXWzccF


20. "If x + 2 = 0 then x = -2". Write the

statement using the appropriate connective

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2 = 0 ∨ x = − 2

x + 2 = 0 ∧ x = − 2

x + 2 = 0 ⇒ x = − 2

x + 2 = 0 ⇔ x = − 2

https://dl.doubtnut.com/l/_03yjhO7AgUBL
https://dl.doubtnut.com/l/_sjvvQM9mpMdy


21. "x + 2 = 0 iff x = -2 ". Write the statement

using the appropriate connective

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + 2 = 0 ∨ x = − 2

x + 2 = 0 ∧ x = − 2

x + 2 = 0 ⇒ x = − 2

x + 2 = 0 ⇔ x = − 2

https://dl.doubtnut.com/l/_sjvvQM9mpMdy


22. . Write the statement using the

appropriate connective

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(7 ≠ 10)

~(7 = 10)

~(7 ≠ 10)

~( − 7 = 10)

( − 7 ≠ 10)

https://dl.doubtnut.com/l/_SnqwigMMCjSV
https://dl.doubtnut.com/l/_0ziekV15WfTk


23. The symbolic form of" not p" is

A. 

B. 

C. p

D. 

Answer: A

Watch Video Solution

~p

~(~p)

p~p

24. The symbolic form of "p or q" is

https://dl.doubtnut.com/l/_0ziekV15WfTk
https://dl.doubtnut.com/l/_4dYVyllkMJHr


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p ∨ q

p ∧ q

p ⇒ q

p ⇔ q

25. The symbolic form of "p and q" is

A. p ∨ q

https://dl.doubtnut.com/l/_4dYVyllkMJHr
https://dl.doubtnut.com/l/_egyxSbwSJhwy


B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∧ q

p ⇒ q

p ⇔ q

26. The symbolic form of "p only if q" is

A. 

B. 

p ∨ q

p ∧ q

https://dl.doubtnut.com/l/_egyxSbwSJhwy
https://dl.doubtnut.com/l/_FExWoXd6abhP


C. 

D. 

Answer: C

Watch Video Solution

p ⇒ q

q ⇒ p

27. The symbolic form of "p iff q" is

A. 

B. 

C. 

p ∨ q

p ∧ q

p ⇒ q

https://dl.doubtnut.com/l/_FExWoXd6abhP
https://dl.doubtnut.com/l/_Cur9RgaDJ8Lj


D. 

Answer: D

Watch Video Solution

p ⇔ q

28. The symbolic form of "p and not q" is

A. 

B. 

C. 

D. 

p ∧ (~q)

p ∨ (~q)

(~p) ∧ q

(~p) ∨ q

https://dl.doubtnut.com/l/_Cur9RgaDJ8Lj
https://dl.doubtnut.com/l/_uAZ5HlxTNEVT


Answer: A

Watch Video Solution

29. The symbolic form of" (not p) or q" is

A. 

B. 

C. 

D. 

Answer: B

(~p) ∧ q

(~p) ∨ q

p ∧ (~q)

p ∨ (~q)

https://dl.doubtnut.com/l/_uAZ5HlxTNEVT
https://dl.doubtnut.com/l/_Vh4GgK6wLaxP


Watch Video Solution

30. The symbolic form of " (either p) or (not p)"

is

A. 

B. 

C. 

D. 

Answer: A

p ∨ (~p)

p ∧ (~p)

p ⇒ (~p)

p ⇔ (~p)

https://dl.doubtnut.com/l/_Vh4GgK6wLaxP
https://dl.doubtnut.com/l/_xoYqn3xGkwze


Watch Video Solution

31. The symbolic form of "p or not q" is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p ∨ (~q)

p ∧ (~q)

p ⇒ q

p ⇒ ~q

https://dl.doubtnut.com/l/_xoYqn3xGkwze
https://dl.doubtnut.com/l/_FnTZtaZxwGzo
https://dl.doubtnut.com/l/_9wPWYua8q2OG


32. The symbolic form of "(not p) and (not q)"

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(~p) ∨ (~q)

(~p) ∧ (~q)

~p ⇒ ~q

~p ⇔ ~q

https://dl.doubtnut.com/l/_9wPWYua8q2OG
https://dl.doubtnut.com/l/_IwPk9dqVlHuq


33. The symbol for connective of the following

: p and not p

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p ∨ (~p)

p ∨ q

p ⇔ p

p ∧ (~p)

https://dl.doubtnut.com/l/_IwPk9dqVlHuq


34. p : x is odd ,  is odd, the symbolic form

of "x is even or  is odd", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

q : x2

x2

p ∨ q

p ∧ q

(~p) ∨ q

p ∨ (~q)

https://dl.doubtnut.com/l/_n6O86Whq2Fts
https://dl.doubtnut.com/l/_xh06P8wR4qau


35. p : x is odd ,  is odd. The symbolic form

of" x is odd or  is odd", is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

q : x2

x20

p ∨ q

p ∧ q

(~p) ∨ q

p ∨ (~q)

https://dl.doubtnut.com/l/_xh06P8wR4qau


36. p : x is odd :  is odd. The symbolic form

of "x is odd and  is even", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

q : x2

x2

p ∨ q

p ∧ q

(~p) ∨ q

p ∧ (~q)

https://dl.doubtnut.com/l/_tkYSt7qC9uBO
https://dl.doubtnut.com/l/_IpPiJtqDIHhR


37. p : x is odd , q is  is odd. The symbolic

form of " x is odd and  is not odd", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2

x2

p ∨ q

p ∧ q

(~p) ∨ q

p ∧ ( − q)

https://dl.doubtnut.com/l/_IpPiJtqDIHhR


38. p : x is odd ,  is odd. The symbolic form

of "If x is odd then  is odd", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

q : x2

x2

p ∨ q

p ∧ q

p ⇒ q

q ⇒ p

https://dl.doubtnut.com/l/_lSxY02DNIZWS
https://dl.doubtnut.com/l/_L8YUDhwdPpTw


39. p : x is odd ,  is odd. The symbolic form

of "If x is not odd then  is odd", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

q : x2

x2

p ⇒ q

q ⇒ p

(~p) ⇒ q

(~q) ⇒ p

https://dl.doubtnut.com/l/_L8YUDhwdPpTw


40. p : x is odd,  is odd. The symbolic form

of "x is odd iff  is odd", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

q : x2

x2

p ∨ q

p ∧ q

p ⇒ q

p ⇔ q

https://dl.doubtnut.com/l/_6iGzKNGajhx2
https://dl.doubtnut.com/l/_SVcMNyaxTzxK


41. p : x is odd,  is odd. The symbolic form

of "x is even iff  is even", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

q : x2

x2

p ⇔ q

p ⇔ (~q)

(~p) ⇔ q

(~p) ⇔ (~q)

https://dl.doubtnut.com/l/_SVcMNyaxTzxK


42. p : x is even,  is even. The symbolic

form of "x is even or  is even", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

q : x2

x2

p ⇔ q

p ∧ q

p ∨ q

p ⇒ q

https://dl.doubtnut.com/l/_pnwOQj8t2ryj
https://dl.doubtnut.com/l/_MxYwkE7LiD6Y


43. p : x is even ,  is even. The symbolic

form of "x is not even and  is even", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

q : x2

x2

p ∨ q

(~p) ∨ q

p ∧ q

(~p) ∧ q

https://dl.doubtnut.com/l/_MxYwkE7LiD6Y


44. The truth value of "4+3 = 7 or  ",

is

A. T

B. F

C. T or F

D. T and F

Answer: A

Watch Video Solution

5 × 4 = 21

https://dl.doubtnut.com/l/_wzOjjhSOMb8c
https://dl.doubtnut.com/l/_3JhjaHao1IV7


45. The truth value of "4+2 = 3 or 2 + 3 = 4" is

A. T

B. F

C. T or F

D. T and F

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3JhjaHao1IV7


46. The truth value of "20 + 10 = 2 and

 ", is

A. T

B. F

C. T or F

D. T and F

Answer: B

Watch Video Solution

20 × 10 = 200

https://dl.doubtnut.com/l/_IouAxwf8FVAe
https://dl.doubtnut.com/l/_NF1zBYKHgG8B


47. The truth value of "10 + 2 = 12 and

" is

A. T

B. F

C. T or F

D. T and F

Answer: A

Watch Video Solution

10 × 2 = 20

https://dl.doubtnut.com/l/_NF1zBYKHgG8B


48. The truth value of "10 + 15 = 20 and 15 - 10 =

25" is

A. T

B. F

C. T or F

D. T and F

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0x1OrX7kIcZT
https://dl.doubtnut.com/l/_iqJ3MPjQ0D7Y


49. The truth value "if 3 + 2 = 5 then 

" is

A. T

B. F

C. T or F

D. T and F

Answer: A

Watch Video Solution

1 × 0 = 0

https://dl.doubtnut.com/l/_iqJ3MPjQ0D7Y


50. The truth value of "if  then 2 + 7

= 9" is

A. T

B. F

C. T or F

D. T and F

Answer: A

Watch Video Solution

3 × 6 = 20

https://dl.doubtnut.com/l/_443jcciLmXXK
https://dl.doubtnut.com/l/_0x6vEHDc46te


51. The truth value of "if  then 2 + 1

= 4" is

A. T

B. F

C. T or F

D. T and F

Answer: A

Watch Video Solution

5 × 7 = 30

https://dl.doubtnut.com/l/_0x6vEHDc46te


52. The truth value of "if  then 6 + 2

= 4" is

A. T

B. F

C. T or F

D. T and F

Answer: B

Watch Video Solution

6 × 7 = 42

https://dl.doubtnut.com/l/_j0N5JCfmwjKr
https://dl.doubtnut.com/l/_f2HMC0hAT0t9


53. The truth value of  is T if

A. The truth value of p is T if

B. The truth value of q is T

C. The truth value of p and q is T

D. The truth value of atleast of p and q is T

Answer: C

Watch Video Solution

p ∧ q

54. The truth value of  is F ifp ∨ q

https://dl.doubtnut.com/l/_f2HMC0hAT0t9
https://dl.doubtnut.com/l/_klsgfjnJVNAv


A. The truth value of both p and q is F

B. Truth value of p is T, Truth value of q is F

C. Truth value of p is F, Truth value of q is T

D. The truth value of both p and q is T

Answer: A

Watch Video Solution

55. The truth value of  q is F ifp ↔

https://dl.doubtnut.com/l/_klsgfjnJVNAv
https://dl.doubtnut.com/l/_vpHws09TDqqm


A. If the truth value of p is T then the truth

value of q is T

B. If the truth value of p is F then the truth

value of p is F

C. The truth value of both p and q is T or F

D. The truth values of p and q are opposite

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vpHws09TDqqm


56. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4 + 3 = 10 ⇔ 4 × 3 = 12

4 × 7 = 28 ⇔ 4 + 7 = 1

5 × 8 = 40 ⇔ 8 − 2 = 5

6 − 3 = 3 ⇔ 6 × 3 = 18

https://dl.doubtnut.com/l/_kz5uRwp6M2XX


57. Which of the following is true ?

A.  or 

B.  and 

C. 

D. 

Answer: B

Watch Video Solution

2 + 4 = 5 4 + 2 = 3

3 + 5 = 8 3 × 2 = 6

x2 = 4 ⇒ x = 2

3 × 7 = 10 ⇔ 1 × 2 = 3

https://dl.doubtnut.com/l/_gVCesZKXJttg


58. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 + 5 = 8 ∧ 1 + 2 = 3

3 × 5 = 8 ∧ 2 × 3 = 6

2 + 4 = 5 ∧ 4 + 2 = 3

3 + 5 = 8 ∧ 1 × 0 = 10

https://dl.doubtnut.com/l/_xT8nZrxsmYkw


59. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 + 7 = 10 ⇔ 1 + 2 = 3

3 + 7 = 10 ⇔ 1 + 2 = 2

3 × 7 = 10 ⇔ 1 × 3 = 3

3 + 7 = 8 ⇔ 1 × 2 = 2

https://dl.doubtnut.com/l/_sIvic3GMrTHH


60. A = {1,2,3,4,5}. Which of the following is true

?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∃x ∈ A ϶ x + 3 = 10

∀x ∈ A, x + 3 < 10

∃x ∈ A ϶ x + 3 > 10

∀x ∈ A, x + 3 ≤ 7

https://dl.doubtnut.com/l/_YSr1K4MgS8wv
https://dl.doubtnut.com/l/_rlBV23f2I43D


61. Biconditional statements are given

below.true statement among them is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x − 10 = 0 ⇔ x = 3

x2 − 16 = 0 ⇔ (x + 4)(x − 4) = 0

x2 = 1 ⇔ x = 1

x2 + 9 = 0 ⇔ x = 3

https://dl.doubtnut.com/l/_rlBV23f2I43D


62. Which of the following statement is false ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 9 = (x + 3)(x − 3), x ∈ R

x2 + 1 = 0 ⇒ x ∈ R

x + 3 = 5 ⇒ x ∈ {2}

x2 + 1 = 0 ⇒ x ∈ R

https://dl.doubtnut.com/l/_zZf6NGf6lINe


63.  is false is

A. p is true and q true

B. p is true and q is false

C. p is false and q is true

D. p is false and q is false

Answer: B

Watch Video Solution

p ⇒ q

https://dl.doubtnut.com/l/_Ter2kkTOLJ82


64. If p is false, q is true then which of the

following is false ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

~(p ⇒ q)

~p

~p ⇒ q

~q

https://dl.doubtnut.com/l/_LtanxZBWjNQ1
https://dl.doubtnut.com/l/_gp8eDeKCmDCa


65. If , then 

A. True

B. False

C. Cannot be determined

D. none

Answer: B

Watch Video Solution

p : 10 > 8, q : 10 > 12 p ∧ q

66. If , then p : 7 > 4, q : 7 < 9 p ∨ q

https://dl.doubtnut.com/l/_gp8eDeKCmDCa
https://dl.doubtnut.com/l/_fZWis8BkcWPk


A. True

B. False

C. Cannot be determined

D. none

Answer: A

Watch Video Solution

67. If  then, 

A. True

p : 3 + 5 = 8, q : 2 × 3 = 8 p ↔ q

https://dl.doubtnut.com/l/_fZWis8BkcWPk
https://dl.doubtnut.com/l/_4N6NGiCUULEE


B. False

C. Cannot be determined

D. none

Answer: B

Watch Video Solution

68. The converse of  is

A. 

B. 

p ⇒ q

p ⇒ q

q ⇒ p

https://dl.doubtnut.com/l/_4N6NGiCUULEE
https://dl.doubtnut.com/l/_jWQL96pnVejS


C. 

D. 

Answer: B

Watch Video Solution

~p ⇒ ~q

~q ⇒ ~p

69. The inverse of  is

A. 

B. 

C. 

p ⇒ q

p ⇒ q

q ⇒ p

~p ⇒ ~q

https://dl.doubtnut.com/l/_jWQL96pnVejS
https://dl.doubtnut.com/l/_KjkAUN7COSZj


D. 

Answer: C

Watch Video Solution

~q ⇒ ~p

70. The contrapositive of  is

A. 

B. 

C. 

D. 

p ⇒ q

p ⇒ q

q ⇒ p

~p ⇒ ~q

~q ⇒ ~p

https://dl.doubtnut.com/l/_KjkAUN7COSZj
https://dl.doubtnut.com/l/_reUgdktNASSk


Answer: D

Watch Video Solution

71. The converse of "If two triangles are

congruent then they are similar" is

A. If two triangles are similar then they are

congruent

B. If two triangles are not congruent then

they are not similar

https://dl.doubtnut.com/l/_reUgdktNASSk
https://dl.doubtnut.com/l/_8Yx7B018btkC


C. If two triangles are not congruent then

they are not similar

D. none

Answer: A

Watch Video Solution

72. The inverse of "if two triangles are

congruent then they are similar" is

https://dl.doubtnut.com/l/_8Yx7B018btkC
https://dl.doubtnut.com/l/_bxKJjozvIhtp


A. If two triangles are similar then they are

congruent

B. If two triangles are not congruent then

they are not similar

C. If two triangles are not similar then thay

are not congruent

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bxKJjozvIhtp
https://dl.doubtnut.com/l/_MpSYCsiNa1mD


73. The contrapositive of "if two triangles are

congruent then they are similar" is

A. If two triangles are similar then they are

congruent

B. If two triangles are not congruent then

they are not similar

C. If two triangles are not similar then thay

are not congruent

D. none

https://dl.doubtnut.com/l/_MpSYCsiNa1mD


Answer: C

Watch Video Solution

74. The converse of "if in a triangle ABC, AB =

AC then " is

A. If in a triangle ABC,  then AB =

AC

B. If in a triangle ABC, , then 

∠B = ∠C

∠B = ∠C

AB ≠ AC

∠B ≠ ∠C

https://dl.doubtnut.com/l/_MpSYCsiNa1mD
https://dl.doubtnut.com/l/_E1mSWGzSJduy


C. If in a triangle ABC, , then 

D. If in a triangle ABC, , then 

Answer: A

Watch Video Solution

∠B ≠ ∠C

AB ≠ AC

∠B ≠ ∠C

AB = AC

75. The inverse of "if in a triangle ABC, AB = AC

then " is∠B = ∠C

https://dl.doubtnut.com/l/_E1mSWGzSJduy
https://dl.doubtnut.com/l/_PPpHaUwsPKCN


A. If in a triangle ABC,  then AB =

AC

B. If in a triangle ABC, , then 

C. If in a triangle ABC, , then 

D. If in a triangle ABC, , then 

Answer: B

Watch Video Solution

∠B = ∠C

AB ≠ AC

∠B ≠ ∠C

∠B ≠ ∠C

AB ≠ AC

∠B ≠ ∠C

AB = AC

https://dl.doubtnut.com/l/_PPpHaUwsPKCN


76. The contrapositive of "if in a triangle ABC,

AB = AC then " is

A. If in a triangle ABC,  then AB =

AC

B. If in a triangle ABC, , then 

C. If in a triangle ABC, , then 

∠B = ∠C

∠B = ∠C

AB ≠ AC

∠B ≠ ∠C

∠B ≠ ∠C

AB ≠ AC

https://dl.doubtnut.com/l/_PPpHaUwsPKCN
https://dl.doubtnut.com/l/_fdzIz36zPdQ2


D. If in a triangle ABC, , then 

Answer: C

Watch Video Solution

∠B ≠ ∠C

AB = AC

77. The converse of "if in a triangle ABC,

 then  " is

A. If in a triangle ABC,  then 

AB > AC ∠C > ∠B

∠C > ∠B

AB > AC

https://dl.doubtnut.com/l/_fdzIz36zPdQ2
https://dl.doubtnut.com/l/_T4WNkXEyuRJ2


B. If in a triangle ABC, , then 

C. If in a triange ABC, , then 

D. If in a triangle ABC, , then 

Answer: A

Watch Video Solution

AB > AC

∠C > ∠B

∠C > ∠B

AB > AC

∠C > ∠B

AB > AC

https://dl.doubtnut.com/l/_T4WNkXEyuRJ2


78. The inverse of "if in a triangle ABC,

 then  " is

A. If in a triangle ABC,  then 

B. If in a triangle ABC, , then 

C. If in a triange ABC, , then 

AB > AC ∠C > ∠B

∠C > ∠B

AB > AC

AB < AC

∠C < ∠B

∠C > ∠B

AB > AC

https://dl.doubtnut.com/l/_yOytXRHe4M4a


D. If in a triangle ABC, , then 

Answer: B

Watch Video Solution

∠C > ∠B

AB > AC

79. The contrapositive of "if in a triangle ABC,

 then  " is

A. If in a triangle ABC,  then 

AB > AC ∠C > ∠B

∠C > ∠B

AB > AC

https://dl.doubtnut.com/l/_yOytXRHe4M4a
https://dl.doubtnut.com/l/_O0vn58J7IxuH


B. If in a triangle ABC, , then 

C. If in a triange ABC, , then 

D. If in a triangle ABC, , then 

Answer: C

Watch Video Solution

AB < AC

∠C < ∠B

∠C < ∠B

AB < AC

∠C < ∠B

AB > AC

https://dl.doubtnut.com/l/_O0vn58J7IxuH


80. The converse of "if a triangle is equilateral

then it is isosceles" is

A. If a triangle is isosceles then it is

equilateral

B. If a triangle is not equilateral then it is

not isosceles

C. If a triangle is not isosceles then it is not

equilateral

https://dl.doubtnut.com/l/_f62PDHSon1qi


D. if a triangle is not isosceles then it is

equilateral

Answer: A

Watch Video Solution

81. The inverse of "if a triangle is equilateral

then it is isosceles" is

A. If a triangle is isosceles then it is

equilateral

https://dl.doubtnut.com/l/_f62PDHSon1qi
https://dl.doubtnut.com/l/_ckmGznyyuPIo


B. If a triangle is not equilateral then it is

not isosceles

C. If a triangle is not isosceles then it is not

equilateral

D. if a triangle is not isosceles then it is

equilateral

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ckmGznyyuPIo


82. The contrapositive of "if a triangle is

equilateral then it is isosceles" is

A. If a triangle is isosceles then it is

equilateral

B. If a triangle is not equilateral then it is

not isosceles

C. If a triangle is not isosceles then it is not

equilateral

https://dl.doubtnut.com/l/_Qr1CFOr0VyRC


D. if a triangle is not isosceles then it is

equilateral

Answer: C

Watch Video Solution

83. The converse of "if a polygon is a square

then it is a rectangular" is

A. If a polygon is a rectangle then it is a

square

https://dl.doubtnut.com/l/_Qr1CFOr0VyRC
https://dl.doubtnut.com/l/_ckoj7aLvJ5Cz


B. If a polygon is not a square then it is not

a rectangle

C. If a polygon is not a rectangle then it is

not a square

D. If a polygon is not a rectangle then it is a

square

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ckoj7aLvJ5Cz


84. The inverse of "if a polygon is a square

then it is rectangle" is

A. If a polygon is a rectangle then it is a

square

B. If a polygon is not a square then it is not

a rectangle

C. If a polygon is not a rectangle then it is

not a square

https://dl.doubtnut.com/l/_qbKI27xMWTVl


D. If a polygon is not a rectangle then it is a

square

Answer: B

Watch Video Solution

85. The contrapositive of "if a polygon is a

square then it is a rectangle" is

A. If a polygon is a rectangle then it is a

square

https://dl.doubtnut.com/l/_qbKI27xMWTVl
https://dl.doubtnut.com/l/_Z2a4MNozlPXr


B. If a polygon is not a square then it is not

a rectangle

C. If a polygon is not a rectangle then it is

not a square

D. If a polygon is not a rectangle then it is a

square

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z2a4MNozlPXr


86. The converse of the statement "If

 then  or " is

A. if  or  then 

B. If  then  and 

C. If  and  then 

D. If  and  then 

Answer: A

Watch Video Solution

x ∈ A ∪ B x ∈ A x ∈ B

x ∈ A x ∈ B x ∈ A ∪ B

x ∉ A ∪ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∪ B

x ∉ A x ∉ B x ∈ A ∪ B

https://dl.doubtnut.com/l/_Ib2GwLDVo4PB
https://dl.doubtnut.com/l/_edyloc0mHBBu


87. The inverse of "if  then 

or ", is

A. if  or  then 

B. If  then  and 

C. If  and  then 

D. If  and  then 

Answer: B

Watch Video Solution

x ∈ A ∪ B x ∈ A

x ∈ B

x ∈ A x ∈ B x ∈ A ∪ B

x ∉ A ∪ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∪ B

x ∉ A x ∉ B x ∈ A ∪ B

https://dl.doubtnut.com/l/_edyloc0mHBBu


88. The contrapositive of "if  then 

 or ", is

A. if  or  then 

B. If  then  or 

C. If  and  then 

D. If  and  then 

Answer: C

Watch Video Solution

x ∈ A ∪ B

x ∈ A x ∈ B

x ∈ A x ∈ B x ∈ A ∪ B

x ∉ A ∪ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∪ B

x ∉ A x ∉ B x ∈ A ∪ B

https://dl.doubtnut.com/l/_tDnau6enk0zF
https://dl.doubtnut.com/l/_dSnqZ21nwoiA


89. The converse of "if  then 

and ", is

A. if  and  then 

B. If  then  and 

C. If  or  then 

D. If  or  then 

Answer: A

Watch Video Solution

x ∈ A ∩ B x ∈ A

x ∈ B

x ∈ A x ∈ B x ∈ A ∩ B

x ∉ A ∩ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∩ B

x ∉ A x ∉ B x ∈ A ∩ B

https://dl.doubtnut.com/l/_dSnqZ21nwoiA


90. The inverse of  "if  then 

 and ", is

A. if  or  then 

B. If  then  or 

C. If  or  then 

D. If  or  then 

Answer: B

Watch Video Solution

ct2 x ∈ A ∩ B

x ∈ A x ∈ B

x ∈ A x ∈ B x ∈ A ∩ B

x ∉ A ∩ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∩ B

x ∉ A x ∉ B x ∈ A ∩ B

https://dl.doubtnut.com/l/_8h2tu6kwGco7
https://dl.doubtnut.com/l/_MiTkFfRXLaPY


91. The contrapositive of "if  then 

 and ", is

A. if  or  then 

B. If  then  and 

C. If  or  then 

D. If  or  then 

Answer: C

Watch Video Solution

x ∈ A ∩ B

x ∈ A x ∈ B

x ∈ A x ∈ B x ∈ A ∩ B

x ∉ A ∩ B x ∉ A x ∉ B

x ∉ A x ∉ B x ∉ A ∩ B

x ∉ A x ∉ B x ∈ A ∩ B

https://dl.doubtnut.com/l/_MiTkFfRXLaPY


92. The converse of "if  then x = 1" is

A. If x = 1 then 

B. If  then 

C. If  then 

D. If  then 

Answer: A

Watch Video Solution

x2 = 1

x2 = 1

x2 ≠ 1 x ≠ 1

x ≠ 1 x2 ≠ 1

x ≠ 1 x2 = 1

https://dl.doubtnut.com/l/_YUIcdDtiJG30


93. The inverse of "if  then " is

A. If x = 1 then 

B. If  then 

C. If  then 

D. If  then 

Answer: B

Watch Video Solution

x2 = 1 x = 1

x2 = 1

x2 ≠ 1 x ≠ 1

x ≠ 1 x2 ≠ 1

x ≠ 1 x2 = 1

https://dl.doubtnut.com/l/_7khTV8Q8wFkP


94. The contrapositive of "if  then 

 " is

A. If x = 1 then 

B. If  then 

C. If  then 

D. If  then 

Answer: C

Watch Video Solution

x2 = 1

x = 1

x2 = 1

x2 ≠ 1 x ≠ 1

x ≠ 1 x2 ≠ 1

x ≠ 1 x2 = 1

https://dl.doubtnut.com/l/_qxBAGMivpciP
https://dl.doubtnut.com/l/_UiXQPwvnHJAW


95. The converse of "if x has courage then x will

win", is

A. If x will win then x has courage

B. If x has no courage then x will not win

C. If x will not win then x has no courage

D. If x will not win then x has courage

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UiXQPwvnHJAW


96. The inverse of "if x has courage then x will

win", is

A. If x will win then x has courage

B. If x has no courage then x will not win

C. If x will not win then x has no courage

D. If x will not win then x has courage

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_R3jy9uSaQLSu
https://dl.doubtnut.com/l/_oepgit84dp6C


97. The contrapositive of "if x has courage then

x will win", is

A. If x will win then x has courage

B. If x has no courage then x will not win

C. If x will not win then x has no courage

D. If x will not win then x has courage

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oepgit84dp6C


98. The converse of "if x is healthy then x is

wealthy", is

A. If x is wealthy then x healthy

B. If x is not wealthy then x is not healthy

C. If x is not healthy then x is not wealthy

D. If x is not healthy then x is wealthy

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FjieYNSHgw3l
https://dl.doubtnut.com/l/_UVkvaKmINjJt


99. The inverse of "if x is healthy then x is

wealthy", is

A. If x is wealthy then x healthy

B. If x is not wealthy then x is not healthy

C. If x is not healthy then x is not wealthy

D. If x is not healthy then x is wealthy

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UVkvaKmINjJt


100. The contrapositive of "if x is healthy then

x is wealthy", is

A. If x is wealthy then x healthy

B. If x is not wealthy then x is not healthy

C. If x is not healthy then x is not wealthy

D. If x is not healthy then x is wealthy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zSkSHBiOy2AD
https://dl.doubtnut.com/l/_51MAceycedkw


101. The converse of "if x is old then x is clever",

is

A. If x is clever then x is old

B. If x is not old then x is not clever

C. If x is not clever then x is not old

D. If x is not clever then x is old

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_51MAceycedkw


102. The inverse of "if x is old then x is clever",

is

A. If x is clever then x is old

B. If x is not old then x is not clever

C. If x is not clever then x is not old

D. If x is not clever then x is old

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KROec4yGG2g0
https://dl.doubtnut.com/l/_AjGGw2OmnqcJ


103. The contrapositive of "if x is old then x is

clever", is

A. If x is clever then x is old

B. If x is not old then x is not clever

C. If x is not clever then x is not old

D. If x is not clever then x is old

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AjGGw2OmnqcJ


104. p : he is hard working , q : he will win. The

symbolic form of" he is hard working but not

going to win", is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∧ q

p ∧ (~q)

p ∨ (~q)

(~p) ∧ q

https://dl.doubtnut.com/l/_qjnaFbFttg82


105. p : he is hard working, q : he will win. The

symbolic form of" if he is hard working then he

will win", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p ∨ q

p ∧ q

p ⇒ q

q ⇒ p

https://dl.doubtnut.com/l/_2rOYiOQ87WKK


106. p : he is hard working, q : he will win. The

symbolic form of" if he will not win then he is

not working" is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p ⇒ q

(~p) ⇒ (~q)

(~q) ⇒ (~p)

(~q) ⇒ p

https://dl.doubtnut.com/l/_FBDXCgmC3f90


107. p : She is beautiful, q : she is intelligent.

The symbolic form of" she is neither beautiful

nor intelligent", is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p ∧ q

(~p) ∧ q

p ∧ (~q)

(~p) ∧ (~q)

https://dl.doubtnut.com/l/_3NAzfsWC8u9J


108. p : She is beautiful, q : she is intelligent.

The symbolic form of" if she is intelligent then

she is beautiful, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ⇒ q

q ⇒ p

p ⇒ ~q

(~q) ⇒ (~p)

https://dl.doubtnut.com/l/_ubz0cE7zmT2d


109. p : she is beautiful, q : she is intelligent.

The symbolic form of "if she is not beautiful

then she is not intelligent", is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p ⇒ (~q)

(~p) ⇒ q

(~p) ⇒ (~q)

(~q) ⇒ (~p)

https://dl.doubtnut.com/l/_UrMWNyksybxd


110. p : she is beautiful, q : she is happy. The

symbolic form of "if she is not happy then she

is not beautiful" is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p ⇒ (~q)

(~p) ⇒ q

(~p) ⇒ (~q)

(~q) ⇒ (~p)

https://dl.doubtnut.com/l/_f9bJBhcfMbgx


111. p : he is hard working , q : he is intelligent.

Then  means

A. If he is hard working then he is not

intellgent

B. If he is not hard working then he is

intelligent

C. If he is not intelligent then he is not

hard working

(~q) ⇒ (~p)

https://dl.doubtnut.com/l/_ARtYHJ5biDFG


D. If he is not intelligent then he is hard

working

Answer: C

Watch Video Solution

112. p : she is beautiful, q : she is intelligent.

Then  means

A. She is beautiful but not intelligent

B. She is intelligent but not beautiful

(~p) ∨ (~q)

https://dl.doubtnut.com/l/_ARtYHJ5biDFG
https://dl.doubtnut.com/l/_kBEYoARo9gV6


C. She is neigther beautiful noe intelligent

D. She is not beautiful or she is not

intelligent

Answer: C

Watch Video Solution

113. p : she is beautiful, q : she is happy. Then

 means

A. If she is beautiful she is not happy

(~p) ⇒ (~q)

https://dl.doubtnut.com/l/_kBEYoARo9gV6
https://dl.doubtnut.com/l/_wFBWdAsynnXX


B. if she is not beautiful then she is happy

C. If she is not beautiful then she is not

happy

D. If she is not happy then she is not

beautiful

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wFBWdAsynnXX


114. p : she is beautiful , q : she is happy. Then

 means

A. If she is beautiful she is happy

B. if she is beautiful then she is not happy

C. If she is happy then she is not beautiful

D. If she is happy then she is beautiful

Answer: C

Watch Video Solution

q ⇒ (~p)

https://dl.doubtnut.com/l/_iRuqGwaezgFc
https://dl.doubtnut.com/l/_NOVpGJ306j3Q


115. The truth table of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

~(~p)

116. The truth table of  isp ∨ q

https://dl.doubtnut.com/l/_NOVpGJ306j3Q
https://dl.doubtnut.com/l/_qPoJ4g6DeUQr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

117. The truth table of  isp ∧ q

https://dl.doubtnut.com/l/_qPoJ4g6DeUQr
https://dl.doubtnut.com/l/_ioj7ASn6Q7Je


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

118. The truth table of  isp ⇒ q

https://dl.doubtnut.com/l/_ioj7ASn6Q7Je
https://dl.doubtnut.com/l/_rs2fbFVzcIjI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rs2fbFVzcIjI


119. The truth table of  is

A. 

B. 

C. 

D. 

Answer: D

p ⇔ q

https://dl.doubtnut.com/l/_MVTLrr8dpTRk


Watch Video Solution

120. The truth table of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(~p) ∧ q

https://dl.doubtnut.com/l/_MVTLrr8dpTRk
https://dl.doubtnut.com/l/_QDjx4sEqjNbg


121. The truth table of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∧ (~q)

https://dl.doubtnut.com/l/_QDjx4sEqjNbg
https://dl.doubtnut.com/l/_xbD3xN4w0PHF


122. The truth table of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(~p) ∧ (~q)

https://dl.doubtnut.com/l/_UcbB9mUmtsKn
https://dl.doubtnut.com/l/_AqCEsOM1yPnN


123. The truth table of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

~p) ∨ q

https://dl.doubtnut.com/l/_AqCEsOM1yPnN


124. The truth table of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∨ (~q)

https://dl.doubtnut.com/l/_pWuYG2aJvAKO
https://dl.doubtnut.com/l/_Ax1yY2l12gJb


125. The truth table of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(~p) ∨ (~q)

https://dl.doubtnut.com/l/_Ax1yY2l12gJb


126. The truth table of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p ⇒ ~q

https://dl.doubtnut.com/l/_U39PDVu5onMJ


127. The truth table of  is

A. 

B. 

C. 

D. 

(~p) ⇒ q

https://dl.doubtnut.com/l/_XBVo58dD4UjJ


Answer: B

Watch Video Solution

128. The truth table of  is

A. 

B. 

C. 

D. 

(~p) ⇒ (~q)

https://dl.doubtnut.com/l/_XBVo58dD4UjJ
https://dl.doubtnut.com/l/_K4tAPVjsVVgV


Answer: C

Watch Video Solution

129. The truth table of  is

A. 

B. 

C. 

q ⇒ (~p)

https://dl.doubtnut.com/l/_K4tAPVjsVVgV
https://dl.doubtnut.com/l/_xJWgIxkaNRF3


D. 

Answer: B

Watch Video Solution

130. The truth table of  is

A. 

B. 

(~q) ⇒ ~p

https://dl.doubtnut.com/l/_xJWgIxkaNRF3
https://dl.doubtnut.com/l/_SxY0S7Q6DbSB


C. 

D. 

Answer: C

Watch Video Solution

131. The truth table of  is

A. 

(~q) ⇒ ~p

https://dl.doubtnut.com/l/_SxY0S7Q6DbSB
https://dl.doubtnut.com/l/_qvHrUbUh5Uz3


B. 

C. 

D. 

Answer: D

Watch Video Solution

132. The truth table of  is

A. 

(~p) ∧ q ⇒ p

https://dl.doubtnut.com/l/_qvHrUbUh5Uz3
https://dl.doubtnut.com/l/_NTp3xVh29MA8


B. 

C. 

D. 

Answer: A

Watch Video Solution

133. The truth table of  is

A. 

p ∨ (~q) ⇒ p

https://dl.doubtnut.com/l/_NTp3xVh29MA8
https://dl.doubtnut.com/l/_zxpyAOxQ9PNY


B. 

C. 

D. 

Answer: B

Watch Video Solution

134. The truth table of  is

A. 

p ∨ (~q) ⇒ p

https://dl.doubtnut.com/l/_zxpyAOxQ9PNY
https://dl.doubtnut.com/l/_8xCzBjPnUlmi


B. 

C. 

D. 

Answer: C

Watch Video Solution

135. The truth table of  is

A. 

(~p) ∨ q ⇒ p

https://dl.doubtnut.com/l/_8xCzBjPnUlmi
https://dl.doubtnut.com/l/_kcr9Vf08NkYX


B. 

C. 

D. 

Answer: D

Watch Video Solution

136.  is

A. a tautology

B. a contradiction

pv(~p)

https://dl.doubtnut.com/l/_kcr9Vf08NkYX
https://dl.doubtnut.com/l/_thdHDWkb5L2V


C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: A

Watch Video Solution

137.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

p ∧ (~p)

https://dl.doubtnut.com/l/_thdHDWkb5L2V
https://dl.doubtnut.com/l/_vHt2hGV4hzi6


D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

138.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

p ∧ (~q) ⇒ p

https://dl.doubtnut.com/l/_vHt2hGV4hzi6
https://dl.doubtnut.com/l/_3Cc3GWSlkG5j


Answer: A

Watch Video Solution

139.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: A

p ⇒ p ∨ q

https://dl.doubtnut.com/l/_3Cc3GWSlkG5j
https://dl.doubtnut.com/l/_YBQIsXtTrcFl


Watch Video Solution

140.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: A

Watch Video Solution

(p ⇒ q) ∧ (q ⇒ r) ⇒ (p ⇒ r)

https://dl.doubtnut.com/l/_YBQIsXtTrcFl
https://dl.doubtnut.com/l/_xMhrOqaURMoS


141.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

[(~p) ⇒ p] ∧ [p ⇒ (~p)]

https://dl.doubtnut.com/l/_xMhrOqaURMoS
https://dl.doubtnut.com/l/_xB5i4qyfi2p1


142.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

(~q) ∧ p ∧ (p ⇒ q)

https://dl.doubtnut.com/l/_YC12XTHZcrTm


143.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

(p ⇒ q) → [(r ∨ p) ⇒ (r ∨ q)]

https://dl.doubtnut.com/l/_VB0AAlAx1mkY


144.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: A

Watch Video Solution

(p ⇒ q) → [(r ∨ p) ⇒ (r ∨ q)]

https://dl.doubtnut.com/l/_Ef0wgqOVnqmO


145.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

[p ∧ (~q)] ∧ [(~p) ∨ q]

https://dl.doubtnut.com/l/_eU1aAKy5M8cB


146.  is

A. a tautology

B. a contradiction

C. a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: D

Watch Video Solution

p ⇒ p'

https://dl.doubtnut.com/l/_zFY8jDESaIcZ


147. The statement  is

A. a tautology

B. a fallacy

C. equivalent to 

D. equivalent to 

Answer: D

Watch Video Solution

~(p ↔ ~q)

p ↔ q

~p ↔ q

https://dl.doubtnut.com/l/_TqYI4XXh7XWJ


148. Statement - I :  is a

fallacy. 

Statement - II :  is a

tautology.

A. Statement - I is true, statement-II is false

B. Statement - I is false, Statement - II is

true.

C. Statement - I is true, Statement - II is

true, Statement - II is a correct

explanation for Statement - I

(p ∧ ~q) ∧ (~p ∧ q)

(p → q) ↔ (~q → ~p)

https://dl.doubtnut.com/l/_ciIo8C3piiKr


D. Statement-I is true, Statement-II is true,

Statement-II is not a correct explanation

for statement-I

Answer: C

Watch Video Solution

149. Which of the following is the universal

quantifier ?

A. ∈

https://dl.doubtnut.com/l/_ciIo8C3piiKr
https://dl.doubtnut.com/l/_1KZGTgdk8k7X


B. 

C. 

D. 

Answer: C

Watch Video Solution

⊂

∀

∃

150. Which of the following is the existential

quantifier ?

A. ∈

https://dl.doubtnut.com/l/_1KZGTgdk8k7X
https://dl.doubtnut.com/l/_n16GvYueztx8


B. 

C. 

D. 

Answer: D

Watch Video Solution

⊂

∀

∃

https://dl.doubtnut.com/l/_n16GvYueztx8

